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E] Definition A series X a, is called absolutely convergent if the series of
absolute values X | a, | is convergent.

@ Definition A series X a, is called conditionally convergent if it is convergent
but not absolutely convergent.
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2-6 Determine whether the series is absolutely convergent or
conditionally convergent.
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The Ratio Test

(i) If lim = [ < 1, then the series -, a, is absolutely convergent

iy "

(and therefore convergent).

. . ) . s . : .
(i) If lim = [.= 1 or lim ' = @, then the series 2, a, is
A=+ [ L iy =1
divergent.
- g+ . .. E . .
(1i1) If lim 1, the Ratio Test is inconclusive; that is, no conclusion
n=m | gy

can be drawn about the convergence or divergence of £ a,.

7-24 Use the Ratio Test to determine whether the series is

convergent or divergent. wrl n 3
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Ryan suggests Example 5 and would like it explained a bit...
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The Root Test

divergent.

convergent or divergent.
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(and therefore convergent).

(i) If lim y/|a,| = L < 1,then the series 2, a, is absolutely convergent
R

=1

(i) Iflim {/|a,| = L > 1 or lim §/|a,| = =, then the series 2>, a, is
n—+x [

n=|

- - m 1 PR .
(iii) If lim &/la.l = 1_the Root Test is inconclusive.

25-30 Use the Root Test to determine whether the series is
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Riemann proved that

if X a, is a conditionally convergent series and r is any real number what-
soever, then there is a rearrangement of 2 a, that has a sum equal to r.
See #52 for outline of proof.
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